Seat No. Enrolment No.:

Gujarat Technological University

Diploma Engineering C to D Bridge Course Examination

Subject Code: C312301 Date: 23/12/2015
Subject Name: Basic Polymer Chemistry
Time: 02:30 PM 04:00 PM Total Marks: 70
Instructions:
1. Attempt all questions.
2. Make suitable assumption wherever necessary.
3. Each question is of 1 mark.
4. Use of SIMPLE CALCULATOR is permissible. (Scientific/Higher Version not allowed)
5. English version is authentic.
No. Question Text and Option
Bonds are formed by mutual sharing of electrons.
L A. lonic bond B. Covalent bond
C. Coordination bond D Hydrogen bond
For the polymerisation to proceed monomer must be
2 A. Mono-functional B. Bi-functional
C. Tri- functional D Tetra- functional
Silicon is a polymer.
3. A. Natural polymer B. Organic polymer
C. Inorganic polymer D Thermosetting polymer
Free- Radical is produced by the decomposition of
4 A. Inhibitor B. Initiator
C. Monomer D Polymer
A polymer whose molecules consist of relatively few repeating units is called
> A. Polymer B. Monomer
C. Oligomer D Initiator
Atmospheric Oxygen is a good
6. A. Initiator B. Inhibitor
C. Monomer D Oligomer
is a Lewis acid.
’ A. Bn B. Nz
C. 0O D BFs
IUPAC Name of HCHO is
8. A. Methanal B. Butanoic acid
C. Propane D Chloro-butane
Polymers are in nature.
o A. Organic B. Inorganic
C. Both(A) & (B) D None of these
Which of the following is not an example of thermosetting polymer?
10. A. Phenol-Formaldehyde B. Urea-Formaldehyde
C. Polyvinyl chloride D Melamine-Formaldehyde
11. Which of the following is an Organic Polymer?
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12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24,

25.

A. Polyethylene B. Polygermane
C. Glass D Silicon
Polymerisation is brought about by the migration of atoms from
one monomer molecules to another monomer molecules.
A. Polyaddition B. Polycondensation
C. Free-radical D Coordination
Degree of Polymerisation is

A. Number of Monomer B. Number of Atoms

C. Number of Polymer D Number of Repeating units
What is Functionality of OH-CH,-CH»>-OH

A. Bi-functional B. Tetra-functional

C. Mono-functional D Tri-functional

Number of monomer joined together and make the giant cross-linked structure is
called

A. Monomer B. Oligomer
C. Polymer D None of these
is an example of Low-Molecular Weight compound.
A. Polyethylene B. Polyvinyl chloride
C. Benzene D Silicone
is a Heat sensitive polymer.
A. HDPE B. PVC
C. LDPE D PC
Free-radical is denoted by
A C° B. R
C. N D B°
A major use of Inhibitor is in the
A. Preservation of monomer during B. Start the chain growth
production and storage
C. Purification of monomer D Produce the free-radical
In Cat-ionic polymerisation is the counter ion.
A. H' B. C*
C. [FsBOH] D OH

In which polymerisation movement of electron pair is in a same direction to that
of the chain growth?

A. Cationic polymerisation B. Anionic polymerisation
C. Coordination polymerisation D Polyaddition polymerisation
Chain polymerisation is also known as polymerisation.
A. Step- polymerisation B. Addition- polymerisation
C. Condensation- polymerisation D None of these
In Polycondensation polymerisation reaction take place between
A. Monomer molecules B. Monomers Functional groups
C. Both (A) & (B) D None of these
is a Carbonium ion.
A. [FsBOH] B. C'
C. OH D H*
Function of Initiator is to
A. Stop the chain growth B. Start the chain growth
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26.

217.

28.

29.

30.

31.

32.

33.

34.

35.

36.

37.

38.

39.

C. Create free-radical D None of these
Nylon-6 is manufactured from

A. Adipic acid and hexamethylene B. Caprolactum
diamine
C. Maleic anhydride D Hexamethylene diamine

The monomer of polyvinyl chloride(PVC) is

A. Ethylene dichloride B. Ethyl chloride
C. Chloroform D Chloroethane
Cellulose is the main constituent of most fibers.

A. Acrylic B. Organic

C. Synthetic D Natural

In a cross-linked polymer, the monomeric units are linked together to constitute a
three dimensional network. Which of the following is a cross-linked polymer?

A. Bakelite(PF) B. Polyester

C. Polythene D Nylon-6
Zeigler-Natta catalyst (AIR3-AlClz) is used in the polymerisation of
A. Vinyl acetate B. Propylene

C. Vinyl chloride D Styrene
Neoprene is a

A. Monomer B. Synthetic rubber
C. Polyester D None of these
Polymethyl methacylate(PMMA) is known as

A. Bakelita(PF) B. Teflon

C. Acrylic D Nylon-6

Which of the following is a Copolymer?

A. PVC B. Bakelita(PF)

C. Polythene D Teflon

The synthetic fibers produced from are known as Rayon.
A. Lignin B. Cellulose

C. Polyamides D Ethylene Glycol

Which of the following polymers belong to the class of Formaldehyde resin?

A. Melamine B. Teflon
C. Dacron D None of these
is an addition polymer.

A. Nylon B. Bakelite

C. Polythene D None of these

Branched chain polymers as compared to linear polymers have

A. Higher melting point B. Higher tensile strength

C. Lower density D None of these
is a thermosetting plastic.

A. PVC B. Polythene

C. Bakelite D Polystyrene
is a Homopolymer.

A. Neoprene B. Bakelite
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40.

41.

42.

43.

44,

45.

46.

47.

48.

49,

50.

51.

52.

53.

54,

C. Nylon-66 D Terylene
Condensation polymerisation is not involved in the manufacture of

A. Teflon B. Polythene

C. Terylene D Nylon

Which of the following is not a Polyolefin?

A. Polystyrene B. polypropylene
C. Neoprene D None of these

Phenol- Formaldehyde is produced by condensation polymerisation. It is also
known as

A. Teflon B. Bakelite

C. Polyester D Nylon-66

Pick out the wrong statement.

A. Polystyrene is a thermoplastic B. Protein is a Natural polymer.
polymer.

C. Neoprene is a Natural rubber. D Polythene is a copolymer,

while SBR is a Homopolymer.
Thermosetting resins/polymers as compare to thermoplastic ones are

A. Soluble in all organic solvents. B. More brittle

C. Formed by addition polymerisation D Easily reshaped and reused
only

In condensation polymerisation as compared to addition polymerisation

A. The monomers are unsaturated B. No Co-product is lost.
compounds.

C. The monomers contain two functional D  Generally only one monomer
groups. IS involved.

Cross-linked polymers are

A. Thermoplastic B. Thermosetting

C. Both (A)or (B) D Fibres only

Molecular weights of plastic ranges from

A. 1000 to 5000 B. 5000 to 1000

C. 20000 to 25000 D 10°to 10"

Elastomers are

A. Thermosetting material. B. Having high heat resistance.

C. Having high flexural strength. D Having very high tensile
strength & heat resistance.

Rayon is a fibre.

A. Cellulosic B. Polyamide

C. Polyester D Natural

Silicon is a/an

A. Monomer B. Inorganic polymer

C. Thermoplastic material D Natural polymer

Number of functional groups present per molecule is called

A. Bi-functional B. functionality

C. Polymerisation D None of these

Which of the following is not a natural fibre?

A. Silk B. Viscous rayon

C. Wool D Cotton

What is valency of the Carbon?

A 1 B. 2

C. 3 D 4

When two atoms are bonded by a covalent bond, the distance between the
centres of the two nuclei is called

A. Bond angle B. Bond length

C. Bond energy D Bond polarity
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55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

65.

66.

67.

68.

69.

The amount of energy required to break a bond in a molecule is called

A. Bond angle
C. Bond energy
C%—CI¥ Bond is a bond.

A. Polar bond
C. Covalent bond
Bond is a Nonpolar bond.

A. C-CI

C. C-H

Which pattern is nota Copolymer .
A. CCDDDCCDDDCCDDDCC
C. AAAAAAAAAAAAAAAA
Atomic weight of Carbon is

A 8
C. 6

The monomer of polyvinyl chloride(PVC) is

A. Chloroethane
C. Ethyl chloride
What is functionality of CH:COOH

A 1
C. 3
The repeating units of PTFE are

A. Cl,-CH-CH3
C. F3C-CFs
-A-A-A-A-A-A-B-B-B-B-B-B-is

A. Graft copolymer
C. Alternate copolymer
LLDPE means

A. Linear density polyethylene
C. Linear low density polyethylene
IS geometric isomerism.

A. Isotactic
C. Atactic
CHahas Hybridization.
A. SP-1I

C. SP-l

Atomic number of Carbon is

A 4
C. 8

What is the general formula for an alcohol?

A. RCOOR
C. ROH
The correct formula of ethanol is

Bond length
Bond polarity

Nonpolar bond
lonic bond

H-H
None of these

BBBBBBBBBAAAAAAAAA
cccbbbcccebbbceccbbb

12
4

Ethylene dichloride
Chloroform

N

F.C=CF-
FCIC=CF;
polymer.

Block copolymer

Random copolymer

Linear degree polyethylene
Low density polyethylene

Syndiotactic
Trans-configuration

SP-1I
None of these

6
12

RCOOH
None of these
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70.

10.

A. CyHgOH
C. CHs3OH
IUPAC name of CH3COOH is

B. Cy;HsOH
D CHs3CHOH

A. Methanoic acid

B. Ethanoic acid

C. Propane D butanol
sl

Ysl Ady [Ascu

sAslote{l WRAUBS wU-A sl oltl olal B.

A wRAs oy sldQee olu

C. SRABAAA ol D. &l8glyel olu

WAHASD2et Ul HIZ HoAHR 8lg 33l .

A, Holl-$520Ad B. ollA $52olcd

C. 2lA-$52acd D. 22Rl-$520lcd

R@s\et ECHERY

A serdl WAHR B. stollls QAHR

c. ustllls WAMR D. &R VAR
of [Aetat 53l $l-Aset tlotlactdl w1 B.

A, 8aélolle? B. ®dllAe?

C. HlHR D. WAMR

WAHR ¥ @ wel 2ol RRER Ykl &l Asiaa oliell YAl waild B dal
sdclHl w8,

A QAHR B. Mol

c. A(AoNHR D. ®dllQAeR

scllHLoll USusat A 8.

A, sel@ae? B. ®aldlolle?

C. HllHR D. (AR
A gou-Ris B,

A. B B. N2

c. & p. BFs

HCHO of IUPAC ollH 8.

A PAcua B. 0J2aless ARLS

C. YUt D. SClll-0jeet

WAHR Us(R oll sl B.

A, slollals B. uslollas

C. R (AU) Wold (0) D. il 88 uel o8l

o(lActiMiel 5 Gelgwl ARl WAMR o8l ?

6/12



11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

A (e QuiBelss B. yRau- qHlResles

c. WARUBA sARYS D. AdHgel-SHBelss
ol Actimiell s WAHR siollls WAHR B.

A Q@sE@t B. W@xHet

C. o D. RAs.t

dl olot MWAHR NASYER UR Al B.

A QAABA B. WAsdRalat
c. (3-33sc D. S-St
(Sofl »s WAHRASB2Let 8.
A, HlelHRe{l vl B. UQulle{l vl
C. WAuRe{l ivau D. RRZb-ylresdl dvaut
OH-CH,-CH,-OH o{l §52l1@3l 9 B.
A, ollA-$5%eA B. 22Rl-$520lcd
C. Holl-$52ct D. 2laA-$5%lelcd
U olell HellHR AU Hofl Aot ¥ (A2 SEAs R5AR oletld B Aal
sSCUHL WA B.
A MR B. (AR
c. WA D. il 818 el o8l
A A-NASYAR A2 51UGSe] GELSNL B.
A, Q@s@dlet B. WA sARSS
C. QAlRat D. R@Aslt
A dle A a VAR B.
A. HDPE B. PVC
C. LDPE D. PC
(3-28ls5ca A eallaadl 2w .
A C B. R
c. N° p. B°
gatélollerall Yuat Guallol HER B,
A.  Geulgsl Aol AYE ERlal B. AtSol oll I A3 Sl HI
HlollHR0ll el 1
C. MollMR ol YeRaswL U2 D. (3-28|sA Geuml sall M2
3e-uAlAs WAHASIAAHT A 51Go2R Wlst B.
A H B. C
c. [FBOH] D. OH

sl WAHRASDUcto{l vie 8ASA Al WISloll scotUAt Aot Nl UM
(Zouni s ®.

WAHRASD2Uoto{l BigR QU] RUNIAR A5 HollHR WA

7/12



22.

23.

24.

25.

26.

27.

28.

29.

30.

31.

32.

33.

A 3e-AREs WAHASI oL B. Aol-ALs WAHASRUeL
C. Sl-AABAAA QAHABRAA D. WA-ABAAA QAHASRAA

Aol WAHRASRUotA ollost ollH &l AOHAUHL WA B,
A RU QAHASIAsL B. ARt MAHASI 2ot
C. SodaldAet WAHABSRUoA D. il 818 vl o8l
S5odol Aot WAHRASIAHL Yl Sloll A e 8.
A, HollHRoell URHIRRA B. HlollHRall §5olc YU
C. () Aal (o) o D. il 818 vl o8l
A slollan vet B.

A, [FsBOH] B C'
c. OH p. H
go{lA2q] sl 8.
A.  Astall ol R\U scll] B. Afatoll JNU A3 $Rcllq]
c. [(3-23lsc Geurt scllqf D. el 818 uel o8l
sllACll-6 of BeUlEat Higll srauul wa 8.
A, ABRMRAs ARS et B. 3UlAseH

35 A RAA StARHIeL
C. NAYS AolslBsLss D. &5 RAAt SlaRAHIEeL
WAL sARNSSA HoAHR 8.
A, 8@Ae slAsARIES B. UBA SARISS
C. SARISH D. 5ARIEAat
ARAY A SLE0RAl Yul 3l 8.
A A@As B. slllals
c. s D. s&dl

slu@s WAHRHL WalHls Ylle Aou Holl A-uRHa Ay weatld & Al
ol ActiHiell x slulds WAHR B.

A ABeuse B. W3R

c. WAt D. ollAAl1-6

sl WAHASP2otoll 2ieR (BocAR-oll2l(AIR3-AICI3) GElussll Guallol U .
A [Qouscd ARRe B. WAt

Cc. [Aausd sARES D. R

(RNt RY

A, HWellHR B. s 20R

c. WAur D. AHE 88 ugl o8l
WARasc RauEAz(PMMA) A ollest sall sttHell 2NavA B.
A Adclse B. 2%Cclot

c. AG@As D. ollAAl1-6

AU 50 sl-AUAHR B.?
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c. At D. 2%Clol
5O s1ESwR Hill clotlataHl WA 8. % 2ot A3 AWaua B.
34. A (Qoo{lst B. ARA
c. WAAWss D. SR sclasld
ol ActiHiell s WAHR IR LSS Dot Yuall B.
35. A, HAHEe B. c2sCclot
C. 35l D. il 818 vl o8l
A A2t WAHR B.
36. A dladet B. Q3clee
c. w@lst D. aHE 88 ul o8l
(ARR WAHA URuHRIHL dlet WAHR WA .
37. A G oda(Ag B. dulR dRuadnn
C. el Yolcll D. iUl 88 ual o8l
A AHRAR wéls B.
38. A Ukl B. WAt
C. AQdase D. WARARS
A H-WAMR B,
39. A (Al B. Q¥cse
C. olladlol-66 D. 2Rt
oll GeUlEatHl $odo1B2Uot WAHASI2Uotoll UHLA SR
ulcdl otell?
40. A, 2sclat B. W(Aellet
c. 2R@Ast D. ollAlet
o{lAsttHiell Aol AHAA WAAAGAML U otell?
41. A Q@AReARs B. WAWR@As
Cc. [t D. AHE 88 ugl o8l
531 B2lol WAHRASD2AAU (Bollcd- SR 618S tollacltHl A B %
o{lost sl AauA 8.
42. A, 2sClol B. Adclse
c. AR D. ollAClol-66
o(lAsitiell s [Qulet WA B.
A QAR A uHvAlRR s B. Uldlet A gedl WAHR ®.
43. IEHERY
C. [t A el 2042 ®. D. WARG A S1-WAHR ] R SBR
A JH-WAHR B,
44, aivdAlRes WAHR( duuHelHl wHRERL W@AHR A

A, Al B. Q3c82(PF)




45.

46.

47.

48.

49.

50.

51.

52.

53.

4.

A, ol % slollas alasell vieR B. UQ % 6 B.

alcd 9.

C. %5 Al WAHASD2AAA D, ARl 531 2usR vl sl Aa
GollalelMi w1 B. $31 Guallol 53 aslal

ARt WAHASRAAA ARUHRHL 563 APt WAHRASD AUl viER

A HellHR A AoARYR2S B. S8 uQl sl-Ulsss ojHtag atell.
SIULGeS B.

C. HlollHR A §52lot Yuell sldct  D.  gct A5 ¥ HlollHRell Ml
aa B, scHl wA B.

sl@s WAHR A 8.

A AHARRS B. AR

C. Olgl () ol (W) D. &5cl SlAR

LR 501l NASAR Adeo(l 3o 8.

A. 1000 ¥l 5000 B. 5000 ¥l 1000

C. 20000 ¥l 25000 D. 10° L 10"

BARRIHR A

A, AHRARL HRAad B. B. el ctulR GuRAcRAUS.

c. Al auR dncuel el D. Al cdll? ARl &Hcll Aol G¥L
uAA B. AN US.

2ot A glAUR 8.

A ARA B. WAAMSS

Cc. WAAeR D. s&dl

R@s R 8.

A MR B. uslollds WAMR

c. adlicRs udlac D. s&xdl WAHR

HAsYColl BER 6% §5201cA YUoall AvUlal sECUML A B,

A, Gl $520cA B. $5al@dl

C. WAHASRUs D. il 818 uwl o8l

(Aol 52 secl slauwR olell?

A Ras B. [a0u Yot

C. Gl D. 3

s16lato{l AUl 8.?

A1 B. 2

c. 3 D. 4

AR A AR AUAwS il S & AR A EAUAGA ot AR AR

sdcML WA B,
A, oluslel B. oludols
C. ol Gt D. il yYcllauel
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55.

56.

S7.

58.

59.

60.

61.

62.

63.

64.

65.

66.

JsAAU{ iER ol dAlsal M2 wudl usdl Gisial

wlA B,

A.  oiuslel

C. olu Gl

C*— CI% ol A, 8.
A ydlla ol

C. usdAs olu

A C-ClI

c. C-H

585 Yau@ s\ QAH: .

A CCDDDCCDDDCCDDDCC
c. AAAAAAAAAAAAAAAA

§16{otoll QIR 8.7
A 8
C. 6

QARQABAH SARIBSA HAlHR
A, sARBAa
C. SUBA SARLSS

CH3COOH ofl $521o1(@2] 9] B. 2

A1

C. 3

PTFE Hi sl RMEL yYlle &. ?
A Cl,CH-CHs

c. FsC—CFs

~A-A-A-A-A-A-B-B-B-B-B-B-

A, Adlge slA@AHR

C. el sWAHR

LLDPE A

A ARAR 3128 V@@t

c. [ARaR A 3{4
Q@s@clst

A cllds AANAINRH B,

A ARARSSLS

Cc. Wsdls

CH, AW YA B.
A.  SP-Ill

C. SP-l

oitt A Ay cllal i 8.

B.
D.

D.

o W

o

O W ¢ O W

B.

B.
D.

sdcllHl

ol oy
oittefl yellawa

uyclat oitl
wRAAs ol

H-H
None of these

BBBBBBBBBAAAAAAAAA
cccbbbcccbbbCcccbbb

.
BRAAA SIASANRLSS
SCARASIH

F.C=CF>
FCIC=CF,

QAR B.

ocAls SLAHR
SH SINAHR

@QRR (32l WA At
A 318 WAt

REINEEE
2lod-5lo%loxyR2lel

SP-Il
wHIY Sl el o8l
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67.

68.

69.

70.

slelotoll WA ololR
A.
C.

4
8

ULEHE\Clo] UM YA g B.?

A.

C

SAollcte] ALY YA g 8.7
A.
C.
CH,COOH o] IUPAC cllHs0l
A.
C.

RCOOR
ROH

CoHsOH
CH30H

RAAss ARS
Yl et

RCOOH
D. AHE 88 ugl o8l

 CoHsOH
D. CHsCH20H
8.
SAASs ARLS
D. oealcd

*khkhkhkhhkhkhkhkkkkkk
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